| CABINET REAR
MOUNTING RAIL LEFT SIDE
#10-32X3/8 PHILIPS PAN HEAD MACHINE SCREW

[@f END BRACKET (B-131) 8
SRS 4 CENTERLINE OF SLIDE

g

3.485

1
| @
* ! | CHASSIS & FRONT PANEL

/<
INTERMEDIATE SECTION

50

r ¢ RECOMMENDED MOUNTING
INTERMEDIATE SECTION MUST BE INSERTED

INTO THE STATIONARY SECTION BEFORE THE

END BRACKET IS ATTACHED

CHASSIS TRAK IDENTIFICATION LABEL LOCATED
ON THE BACK SIDE OF STATIONARY SECTION

BAR NUT (A-1131)

#10-32X3/8 PHILIPS PAN HEAD MACHINE SCREW

®© @

#10-32 KEP NUT

PIVOT SCREW (#5/16X24 UNF) CHASSIS SECTION B TYPE \

- CABINET FRONT MOUNTING
RAIL LEFT SIDE

o
®

#10-32X1/2 PHILIPS PAN HEAD
MACHINE SCREW

#10-32X3/8 PHILIPS PAN
HEAD MACHINE SCREW

FLANGE (TYPE 1) MOUNT @\
STATIONARY SECTION <

.31 CLEARANCE REQUIRED BEHIND STATIONARY
SECTION TO ALLOW LOCK BUTTON TO RELEASE

@.

TILT STOP

#10-32X5/8 PHILIPS FLAT HEAD
MACHINE SCREW

———..31 CLEARANCE REQUIRED BEHIND STATIONARY
SECTION TO ALLOW LOCK BUTTON TO RELEASE
®

STRAP (TYPE 2) MOUNT STATIONARY
CTION

PIVOT SCREW
(#5/16X24 UNF)

#10-32X1/2 PHILIPS PAN HEAD MACHINE SCREW

CTH SERIES SLIDE

(CC1700 - CABINET/STRAP MOUNTING)

GENERAL
DEVICES

W Electronic Hardware
Manufacturers

#10-32X1/2 PHILIPS PAN HEAD &2
HEAD MACHINE SCREW p

CHASSIS SECTION D TYPE

#10-32 KEP NUT

CHASSIS SECTION N TYPE
CHASSIS TRAK" Telescoping Slides

www.generaldevices.com

If you have questions please call 317-897-7000
INST1700-A or send e-mail to sales@generaldevices.com



